
Math 350 Homework 06, Section 2.1 answers

1. curve(x/9, from=2, to=4, n=3, type='p')
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3 (a) 1 =
∑

x x/c⇒ c =
∑

x = 10. c = 10

(b) 1 =
∑

x c ∗ x⇒ c−1 = sumxx = 10 ∗ 11/2. c = 1
55

(c) 1 =
∑

x c(1/4)
x ⇒= c−1 =

∑
x(1/4)

x = 1/4
1−1/4

= 1/3. c = 3.

(d) 1 =
∑

x c(x+ 1)2 ⇒ c−1
∑

x(x+ 1)2 = 1 + 4 + 9 + 16 = 30. c = 1/30

(e) 1 =
∑

x x/c⇒ c =
∑

x n(n+ 1)/2. c = n(n+1)
2

(f) 1 =
∑

x
c

(x+1)(x+2)
=

∑
x c(

1
x+1
− 1

x+2
)⇒ c−1 = 1. c = 1

8 P (W = w) = 1/8 for w ∈ {0, 1, 4, 5, 2, 3, 6, 7}.

9 curve((1 + abs(x - 3))/11, from=1, to=5, n=5, type='s')
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